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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
450

400

USRS ST TR -

ol T
1| | | R L A

200
0 25 50 75 100 125 150 175
d
N —
1 Topt
30
i /_M
) :/ W/M \/V\’\,\\/\’\v‘
- Vandl N
20 A : -
15 /v :
0 25 50 75 100 125 150 175
d
60 \E S el
o |
40 \\ i
01 — RH\/\/\?\
———  RHopt i
0 25 50 75 100 125 150 175
d
2500 E V,/'\var\u/\\,\," = EZ:IIETCI |
- /\/C/’_”MAVA
1500 i
| /
1000 E / / \\(\
0 | 25 50 75 100 125 150 175
d
3.0 : /'/_“~ LAI |
| ~ AN
i e N
. A
iy N
v _/‘5,/ -\-\\_\x\
0 | 25 50 75 100 125 150 175
d
1.5 i A optEtRate |
v
g //
1.2 :
o \( A A A MM A ATV N Wk e N —
L : A L AV VYA 2 AT PV A WY ALVAVI LA LTV A
Ny i o
. : |
0.8 ;

0 25 50 75 100 125 150 175



Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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REX 1 B AR ECHIE R Kk
REXR BB HEREC/PHEER K, 7T

VNN =A
BEFZ

MR R 56




FRV (ml plant-1)

ET (ml/hr/plant)

100

1.0
0.8
0.6
0.4

0.2
800
600

400

200

30

25

20

60

40

20

1.0
0.8

0.6

0.4+

0.2

P3-3_0, Day=10 (2025-04-08)

T
N
o
o

FRV (ml d-1)

VI, V@3§RV, ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET 5711 600

] 84
7 - 400
00 00 00

T
o

TargetEC=2300. 0,  TargetSetEC=1900. 0

TargetPH=6. 5, TargetSetPH=6.5

ByWoFyv @Dw 02:44: ET=571 Fg=720.0 Ro=69.0 o—eo—o ©

1000

- 750

- 500

- 250

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

1 W | #F | A5 | BF | BE | BE | BE | BE [R5 [R5 [R5 [R5 | R | R5 [R5 | RS | A5 | BA | BA | BA | BAH | BA | BA | A

4

, 'PPFD_obs’] is missing

\ A A Warhing:,‘:ol [Al o

1

o_obs"] is missing

Warning: lcol ['RH obs’, 'RHo obs'] is misW

o VPD

0.0 0.2 0.4 0.6 0.8 1.

0

cumET (ml/plant)



hour

100
80
- 60
- 40
20

1 1 1 1
X B B
& 8
T

NS
e
& 4

'




P3-3

BFE) | GEBRTIK () | ElE (EF/F) | XS R

01:00 120 70.0 A 1BR1&@01:00 (R FHfERLES)
02:00 120 70.0 A BRi%@02:00 (KRFIFEREE)
03:00 120 70.0 1] B3%£@03:00 (KRFERSE)
05:00 120 70.0 (2= {B31£@05:00 (K F{ERLEE)
09:25 120 70.0 | = 1218009 :25 (KRF{ERLEE)
10:55 120 70.0 (&= B1%@10:55 (RFEERSE)
12:10 120 70.0 5 Big@12:10 (FREERSR)
13:25 120 70.0 5 Bi%013:25 (REERSE)
14:55 120 70.0 5 Bi%014:55 (REERSE)
23t[1080.0 (9%) 630. 0 3Z3KEC: 1900.0, PH: 6.5

EREBRTKC (120. 0) 57a#A (109. 0) RfF, FIREH T % @RE#1RS % XER

ZRINKPRIEBL77.0 ml.
RE R i3k [B] RECEIB Hh ok
BE R E B HEREC/PH{E SRS, 7T

INA=A
BEFS

Mot 2R 56




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-3 0, Day=9 (2025-04-07)

60

40 -

20 -

100

~
(&)}
1 =

a1
o
1

N
[$)]
1

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2300. 0,  TargetSetEC=1900. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.5

Warning: lcol ['PHB’,| 'PHC’'] missing

0.0
300 -

200

100 A

]
Bylnit @10 02:44: ET=565 Fg=700.0 Ro=70.0

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

300 -

FA | BA [ PH | BE | Rs [BE | 5 | R [BF | HE | RE | BF | WS | RE | BE | R5 | RE | S | fs [ HE | S | R [ A | R

200

100 A

0_l—a — Y~ N -~ —

) o—0—0—0—0—0—

ByEt @D9 18:08: ET=663 Fg=819.0 Ro=nan

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

300 -

A1 B[ | 2525|2252 |52 | 0 | B | B | BB |5 | B [ BE |5 [ | BE | R5 [ BF | HS

200

100 A

I
ByWoFyv @D19 02:44: ET=439 Fg=630.0 Ro=54.0

——o—8

: o—eo
1.0—:::;; I — 0 I i | L o

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

0.8

0.6

0.4+

0.2~

0.0
1500 4

1000 ~

500 -

—_— 4
o | _obs
—@— PPFD_obs

‘L e v f

1 -

- 20

------------------------------------------------------------------------------------- - 600
VI, VB3BRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 53939

41 39
- 400
- 200
00 Warning: lcol [FVI',| "FVO’'] missing 00
-0
R

v — ME #30

M_E

- 1000

- 500

- 1000

- 500

- 1000

- 500

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



14.

15.

15.

15.

15.

15.

26.5 -

26.0

25.5

25.0 -

24.5

24.0 -

24,

24.

24.

24.

24.

24.

24.

25 -

660 760
m=690,n FV0=0

T
500

T T
800 900

40 ~

35 -

30 A

25 -

20 A

—o— M_E H H

( 3

—— MW

660 760
m=690,n FV0=0

500

800 900

50 A

45 -

40

35 -

30 A

25 A

20 -

i

-— MW

690 695

700

m=480, FVO0=0
14.8
14.7 4
14.6
14.5
14.4 4 - ME
T T T
480 485 490
m=720,m FV0=0
15. 40 — N
15. 38 -
15. 36 -
15. 34 -
15. 32 -
15. 30 -
T T T
720 725 730
m=480,m FV0=0
26.8 N
26. 6 -
26. 4 -
26.2 -
26.0 -
480 485 490
m=720,m FV0=0
24.50 R
24. 45 -
24. 40 -
24. 35 -
24. 30 -
24. 25 -
24.20 -
720 725 730

15.

14.

14.

14.

14.

14.

15.

15.

15.

15.

15.

26

26.

26.

25.

24.

24.

24.

24.

24.

m=540, FV0=0

00 A

98 ~

96

94 -

92 -

90 ~

M_E

T
540

5&5
m=780,n FV0=0

T
550

50 A

45

40 ~

35 -

30 A

—o— ME

780

7é5
m=540,n FV0=0

T
790

.4 A

—o— MW

540

5&5
m=780,n FV0=0

550

/

-— MW

780

785

790

15.

15.

15.

15.

15.

15.

15.

15.

15.

15.

25.5 A

25. 4 -

25.3 A

25.2 A

25.1 4

25.0 -

25.

25.

25.

24.

24.

24,

24.

m=600, FV0=0

30

25 ~

20 A

15 4

10

M_E

665 6%0
m=840,n FV0=0

60 -

55 -

50

45 -

40 -

—o— M_E

i

8&5 860
m=600,n FV0=0

—0— MW

J>

600

665 6%0
m=840,n FV0=0

10

05 -

00 -

95 -

90

85

80 -

i

—0— MW

840

845 850




hour

6:40

7:40

10:20

11:50

13:15

15:20

100

80

60

40

20



P3-3

BfiE) | EBETK (D) | EE (EH/AR) | XK SR

06:40 120 80.0 5 B1%006:40 (KRFERSE)
07:40 120 80.0 |Z =& Bi%@07:40 (KFERSE)
10:20 120 80.0 5 B1%010:20 (KREERSE)
11:50 120 80.0 = BRi%e11:50 (RAEERSE)
13:15 120 80.0 = BRi1&@13:15 (RFEREE)
15:20 120 80.0 (&= RRi%@15:20 (KRAERKES)
Bit| 720.0 (6%) 480.0 3ZHKEC: 1900.0, PH: 6.5

REX 1 B AR ECHIE R Kk
RER B HEREC/PHELERK, WRER

MEARBR TR




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-3_0, Day=8 (2025-04-06)

L et e e e e B T e Tt =veo=ay L 600

60

40

20 A

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

464
21
Warning: lcol [FVI',| "FVO’'] missing

100

=

V]

n
Rv

00
=

~
(&)}
1

a1
o
1

N
[$)]
1

- 400

- 200

-0
4 30

- 25

M_E

- 20

- 15

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2300. 0,  TargetSetEC=1900. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.5

Warning: lcol ['PHB’,| 'PHC’'] missing

0.0
150 A

100 A

1
Bylnit @D1Q 02:44: ET=524 Fg=720.0 Ro=66.0
1

- 1000

- 500

0 1 2 3 4 5 6 7 8 9

10

11

14 15 16 17

19

20

21

22

23

BB | B | B | B | KB |E[F[KF[RK|[RK

E3
B

ES
5]

E3 ES = E3
B 5] B B

ES
5]

=
B

E3
B

E3
B

A

1000

ByEt @D8 18:08: ET=742 Fg=809. 0 Ro=nan

- 500

0 1 2 3 4 5 6 7 8 9

10

11

12

13

14 15 16 17

19

20

21

22

23

BB | B | B | B | B | B[ [Z5]FK [ K

E3
B

ES
5]

=
B

E3
B

XN EZEZIN

%=

%=

E3
B

EXS

50 -

R —— ==5 === ——— =

I
ByWoFv @D19 02:44: ET=410 Fg=480.0 Ro=51.0
I

e—e e & & o

1000

- 500

18

19

20

21

22

23

0.8

E3
B

ES
5]

=
B

E3
B

E3
B

%=

%=

E3
B

E3
B

%=

0.6

0.4+

0.2~

0.0
1500 ~

|
| _obs

—@— PPFD_obs

VPD

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=480, FV0=0 m=540, FV0=0 m=600, FV0=0

14.8 WE 14. 90 15.10 4 WE
15. 4 1 ® ®
15. 05 -
15.2 - 14.7 - 14. 85 -
15. 00 -
15.0 -
14.6 14. 80 - 14. 95
14.8 -
14. 90 -
14.6 - 14.5 - 14.75 -
14. 85 -
14. 4 1
14. 4 14.70 - = WE 4480
T T T T T T T T T T T T T T
500 600 700 800 900 480 485 490 540 545 550 600 605 610
m=690,m FV0=0 m=720,m FV0=0 m=780,m FV0=0 m=840,m FV0=0
15. 30 o— wE | 1590 15. 40 15. 50 ~——l
15. 28 - 15. 38 -
15. 25 - 15. 45 -
15. 26 15. 36
15. 20 - —-o— ME —o— ME | 15.40 -
15. 24 - 15. 34 -
15. 15 - 15. 35 -
15. 22 - 15. 32 -
15.10 - 15. 20 - 15. 30 - 15. 30 -
T T T T T T T T T T T T
690 695 700 720 725 730 780 785 790 840 845 850
m m=480,m FV0=0 m=540,m FV0=0 m=600,m FV0=0
27.0 - ) ]
—— mw —o— mw | %62 o | 256 —
26.5 - 26. 8 1
26.1 - 25.5 -
26.0 -
26.6 1 26.0 - 25. 4 -
25.5 -
26. 4 25.9 - 25.3 -
25.0 -
25. 8 - 25.2 -
24.5 1 26. 2
240_ T T T T T T T T 257_ T T T 251_ T T T
500 600 700 800 900 480 485 490 540 545 550 600 605 610
m=690,m FV0=0 m=720,m FV0=0 m=780,m FV0=0 m=840,m FV0=0
24.6 o— | 2440 ~ T 24.6 o— Wy | 2510
25. 05 -
24.5 - 24. 35 - 24.5 -
25. 00 -
24.4 - 24.30 - 24.4 - 24. 95 -
24.90 -
24.3 - 24. 25 - 24.3 -
24. 85
24.2 - 24.20 - 24.2 - 24. 80 - o= W
690 695 700 720 725 730 780 785 790 840 845 850



hour

6:45

9:20

11:40

13:35

100

80

60

40

20



P3-3

BYE) | GEBERTIC (B)) | EBE (EAH/#) | XS R

06:45 180 90.0 = 1B31%@06:45 (KRFEERHZE)
09:20 180 90.0 5 Bi%@09:20 (KRFERSE)
11:40 180 90.0 = BRi%e11:40 (RAEERSE)
13:35 180 90.0 = BR1&@13:35 (RFfEREE)
23t 720.0 (4%) 360.0 3Z053KEC: 1900.0, PH: 6.5

EORERRRTC (180. 0) 578 (141.0) 1%, A aEH T % AREERS 2 X ER
ZRIASLPRIERE115.0 ml.

RE R i3k [B] RECEIB Hh ok

REXREBT I HEREC/PHE R K, FIREINIRAR R



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-3_0, Day=7 (2025-04-05)

_____________________________________________________________________________________ 800
804 VI, VB/ERV, ET = V|, VO, FVI, FVO, FRV, ad jFRV, ET
L 600 ~
60 46460 5
131 400 £
40 A 76 ~
=
20 4 L 200 £
00 Warning: lcol [FVI',| "FVO’'] missing 6o
150 BEE8 Lo
( FRV — ME #30
maxM
100 + - 25
_____________________________________________________________________________________ "
=
50_ "20
x - L 15
1.0
1
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 4 TargetEC=2300. 0,  TargetSetEC=1900. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 4 TargetPH=6. 5, TargetSetPH=6.5 N
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
200 4By lnit @D1Q 02:44: ET=444 Fg=450.0 Ro=51.0 ?800 —
' £
1507 - 600 &
100 -4005
'—
=
50 - L 200 5
0 T 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
2001 i [ W5 | & i | B | g | BB g | BB | B i 5 5 5 i 5 5 5 i 5 5 5 i 5 1800 &
1 c
150 4 ByEt @D7 18:07: ET=557 Fg=550. 0 Ro=nan *l | 600 g_
<
100 -4005
'—
=
50 - L 200 5
0 T 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
2001 i [ W5 | & i | B | g | BB g | BB | B i 5 5 5 i 5 5 5 | B 5 5 5 i 5 1800 &
1 c
150 4 ByWoFv @DNIJ 02:44: ET=373 Fg=360.0 Ro=39.0 | 600 L:_
<
100 -4005
'—
=
50 - L 200 5
1.0 0
0.8 A
0.6 -
0.4 1
0.2 A
0.0
1500 ! ¥
o | _obs
—@— PPFD_obs
60 4 4
40
- RH
204 @ RH_obs
(] RHo_obs
o
W e v f
3_
. ~°h ¢ o
2_
1
_______ -— .
0 2 4 6 8 10 12 14 16 18 20 22 24



15. 4 ~

15. 2 ~

15.0 A

14.8

14.6

T
500

660 760
m=750,n FV0=0

T
800

15. 40 -

15. 35 A

15. 30 -

15. 25

15. 20 -

——

M_E

765 760
m=660,n FV0=0

25. 3

25. 2 -

25.1 -

25.0

24.9 -

——

M_Ww

665 670

m=480, FV0=0

15.0 A

14.9 -

14. 8 -

14.7 4

14.6

14.5 -

—— ME

T
480

485 490

T T T T
500 600 700 800
m=750,m FV0=0
25.0 A - MW
24.9
24.8 A
24.7
24.6 A
24.5 4
750 755 760

m=570, FV0=0

15. 20 -

15. 15 1

15.10 -

15. 05 A

15. 00 -

——

M_E

T
570

5%5 5é0
m=480,n FV0=0

27.6 -

27. 4

27.2

27.0

26. 8

——

M_w

T
480

485 490

m=660, FV0=0

15. 30 A

15. 25 A

15. 20 A

15.15 A

15.10

——

M_E

660

6é5 6%0
m=570,n FV0=0

26.1

26. 0 -

25.9 A

25. 8 A

25.7 A

25.6

——

MW

570

575 580




hour

6:45
9:35
12:25

100

80

60

40

20



P3-3

BfiE) | EBATK (7)) | EME (EAH/H) | XX e

06:45 210 90.0 (&= Ri%@06:45 (RFEREE)
09:35 210 90.0 1] 18£@09:35 (ARFEREE)
12:25 210 90.0 1] Bi%e12:25 (REERSE)
23t| 630.0 (3%) 270.0 3203 KEC: 2000.0, PH: 6.5

EREBRTK (210. 0) 57 #A (138. 0) TfF, FIREH T % WREI#1RS % XER

ZRIALPRIERE136.0 ml.
BE X HE [E] IRECETHE SR 2K
RE R L3 HEREC/PHIE SREE, TTRER,

MR ELR R




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-3_0, Day=6 (2025-04-04)

_____________________________________________________________________________________ - 800
80 4 VI, VETERV, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET 67680
L 600 ~
60 il
% - 400 £
17 61 >
20_ "200“—
00 Warning: lcol [FVI',| "FVO’'] missing 6o
0 -0
150 § FRV —— ME $30
maxM
L 25
wt+———+———§——§ —§—§———§—————————————————————] w
El
L 20
50 -
e — - L 15
1.0
U
0.8
0.6
0.4
0.2 -
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 4 TargetEC=2300. 0, | TargetSetEC=2000. 0 t
0.6
0.4
0.2 -
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 4 TargetPH=6. 5, TargetSetPH=6.5 N
0.6
0.4
0.2 -
Warning: lcol ['PHB’,| 'PHC’'] missing
808- 1 1
Bylnit @D1Q 02:44: ET=363 |[Fg=360.0 Ro=39.0 —1000,43
150 - 1 &
: L 750 =
1 >~
100 - : | 500 £
| e e e e e i
90 + : L 250 S
o & —t1o——0 0 | ©
e le e &
208170 1 2 3 4 5 6 7 8 9 [ 101112134 ] w6 ]17]8]19 20 2]2]2m]°
572z 5| M | % | f | B | | B8 | B3| P | B3| Bs | e | Be | A5 | B | Bs | A& | Be | Bs | B | B8 | m& | 1000
. 1 c
150 1"ByEt @D6 18:07: ET=381 Fg=770.0 Ro=nan ——o o e o o o0 |5 °
! N
| —_—
100 - ! | 500 £
—o—& o —6&—© o
90 + i L 250 S
1 o
p————0—0—0— !
- o o - 1 0
208170 1 2 3 4 5 6 7 8 9 [ 10 11 1213 ] 1415 [ 16 ] 17 [ 18 [ 19 [ 20 [ 21 [ 22 | 23
2% |52 %% W |22 222225522 B | B | B | BB 22553215552 % | B | & | BB [ & [ 10005
_ 1 c
150 1 ByioF v @D10 02:44: ET=261 Fg=270.0 Ro=25.0 L 750 =
~N
| —_—
100 - : | 500 £
I —o—&—0—0&—9© i
N : W T e
[&]
b —& 10— —O— |
1.0 — sl PN ra—— <Tlr\¥”##— i 0
0] 1] 21 31 #5161 7 81 9 1011 121314116 17]18]19]21]21]2]23
s lBZ BZ 22| B 2212212212222 W | W | W | M| B 2212621225252 % | % | % | %%
0.6
0.4
0.2 -
1808 3 | A
| _obs
PPFD_obs
C [ }‘ n
° ® VP
®
37 0“ "?.o & o
¢ e _°
[ ] @
2 4 ¥ 4
1
0 2 4 6 8 10 12 14 16 18 20 22 24



15.2

15.0

14. 8 ~

14.6

14. 4 -

500

T
600

T
700

m=750,m FV0=0

T
800

T
900

15. 20 -

15. 15

15.10 A

15. 05 -

15. 00 ~

14. 95

14. 90

——

M_E

765
m=570,n FV0=0

T
760

26. 4

26. 2

26.0 -

25. 8

——

M_Ww

575

580

m=480, FV0=0

15.0 A

14.9 -

14.8 4

14.7 4

14.6 -

14.5 -

——

M_E

15.

15.

15.

15.

15.

14.

14.

T
480

T
485

T
490

m=840,m FV0=0

20 A

15 1

10

05 -

00 -

95 A

90

——

M_E

T
840

845
m=660,n FV0=0

T
850

25. 8 -

25.6

25. 4 -

25. 2 ~

——

M_W

660

665

670

15.

14.

14.

14.

14.

m=570, FV0=0

00 A

95 -

90 ~

85 -

80 ~

M_E

570

575

580

28 -

27 A

26 -

25 A

M_W

500

T T T
600 700 800

m=750,m FV0=0

900

26. 2

26.0

25. 8

25.6 -

MW

750

755 760

m=660, FV0=0

15. 20 A

15.15 A

15.10

15. 05 A

15. 00 -

——

M_E

i

660

T
665

T
670

m=480,m FV0=0

28. 2 -

28.0

27. 8 A

27.6 -

27.4 4

27.2 A

——

M_W

480

485
m=840,n FV0=0

T
490

26. 6

26. 4 -

26. 2

26. 0 -

25. 8 A

——

M_W

840

845

850




